TMM4230   Technology for Integrated Operations and Semantic Web
Solution to the exam June 2. 2010
	
	Correct answer
	Max points

	.NET
	
	

	1.1
	A
	1

	1.2
	C
	1

	1.3
	D
	1

	1.4
	A,d,e,h
	4

	1.5
	A
	1

	1.6
	C
	1

	1.7
	B
	1

	1.8
	C
	1

	1.9
	A
	1

	1.10
	A5, B4, C1, D6, E3, F2
	6

	1.11
	timer.Elapsed += timer_elapsed;
	1

	2.1
	B
	1

	2.2
	C
	1

	2.3
	[ServiceContract]
public interface IStockInfo
{

[OperationContract]

string GetInfo(string stockTicker);
}

[DataContract]
public class StockInfo

{


[DataMember]


public string Name { get; set; }


[DataMember]


public float Price { get; set; }
}
	2

	2.4
	D
	1

	2.5
	D
	1

	2.6
	C
	1

	2.7
	1. new StockServiceClient();

2. txtTicker.Text;

3. client.GetInfo(stockTicker);
	3

	3.1
	State Machine Workflow
	1

	3.2
	A
	1

	3.3
	Fully or partially automatisation of a (business) process where documents, information and tasks are transfered between parties according to defined rules 
	1

	3.4
	a, c, d, g, h
	5

	4.1
	C
	1

	4.2
	C, e
	2

	4.3
	D
	1

	4.4
	B
	1

	
	Max possible score .NET part
	42

	
	
	

	Sem. Web
	
	

	5.1 (1)
	B
	1

	5.2 (2)
	B
	1

	5.3 (3)
	B
	1

	5.4 (4)
	B
	1

	5.5 (5)
	D
	1

	6.1 (6)
	D
	1

	6.2 (7)
	A
	1

	6.3 (8)
	A
	1

	6.4 (9)
	D
	1

	6.5 (10)
	· Open world: the system's knowledge is incomplete and hence cannot conclude that a statement is false if not inferred. E.g. OWL

· Closed world: The system's knowledge is complete and hence always possible to draw the conclusion that a statement is either true or false. Everything that is not inferred to be true is false. E.g. SQL


	2

	7.1 (11)
	A
	1

	7.2 (12)
	B
	1

	7.3 (13)
	B
	1

	7.4 (14)
	D
	1

	7.5 (15)
	B
	1

	8.1 (16)
	Humans write books, but maximum one book each.

Students are smart humans that write at least one thesis and nothing else than theses.  

The student John writes the thesis SecretOfSemanticWeb.


	2

	8.2 (17)
	B
	1

	8.3 (18)
	A football fan is a student that likes maximum two teams, and neither can be Manchester United nor Real Madrid.


	2

	8.4 (19)
	Class: Parent 

    SubClassOf: Person and

                          hasChild min1 Person

    
	2

	8.5 (20)
	Class Person:

    SubClassOf:  hasAge exactly 1 and

                           hasGender exactly 1 and  

                           hasGender only {female,male}


	2

	9.1 (21)
	tf.idf is larger the more frequent a term is
tf.idf is smaller the more documents in the collection contains the term


	2

	9.2 (22)
	B
	1

	10.1 (23)
	In Authoring Operational Data, an ontology is used to author operational data and operational data are translated to be used by an application.

In Authoring Ontology, an ontology author creates an ontology, which they convert into an operational target system (e.g., a knowledge base). Application users then interact with an operational system to perform their desired tasks.


	2

	10.2 (24)
	A
	1

	10.3 (25)
	D
	1

	
	Max points Semantisk Web part
	32

	
	
	

	
	Max points total
	74

	
	
	


